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1. The 'Samiti' for the Jain Monks 'not to do
violence through food' is called -

(1) Aishna samiti (2) Irya samiti
(3) Vyutsarg samiti ~ (4) Bhasha samiti
(5) Question not attempted

2. In which Upanishad there is a mention of the

debate between Yagyavalkya and Gargi in the
- Court of Janak? :
(1) Brihadaranyaka Upanishad -
{2) Aitareya Upanishad
(3) Mandukya Upanishad
(4) Katha Upanishad
(5) Question not attempted

3. Name the Britisher who has called the Revolt of

1857 as a “National Rising” - ;

(1) W. Tayler (2) T.R. Holmes

(3) Benjamin Disracli (8) Sir-James Outram -
(5) Question not attempted

4. Name the women disciples of Ramananda w

carried away his message from door to door af
his death - _

(1) Karaikal Ammaiyar and Gangasati

(2) Andal and Janabai

(3) Padmavati and Sursuri

(4) Ladbai and Meera

(5)*Question not attempted

5. Sir William Jones has equated Chandragupta

Maurya as which of the following?
(1) Sandrocottus
(2) Amitrochates
(3) Allitrochades

. (4) Agrammes -
(5) Question not attempted

6. Which Czar has been called ‘Czar the leerator

who reformed the internal system of Russia?

(1) Tyor | (2) Saf affy

(3) =gt afafay (4) wror Ay

(5) orpaiRa U= . .
2. 59 Suig A oFe B Tl H deidedd 9

Tt & 9 §e aR-RaE BT S ¥ i

(1) gEaRvIS SufEg

(2) YJeva SufIg

(3) v SRS

(4) Bo SUFNg .

() srIRa e

5-wﬁwm#wtﬁﬁ?ﬁrw

6. fpe WK B U & ARG Haenail § guR

~ A

1 39 o & figgell & ol Wm%ﬁqgﬁ“
= Gl wEari & —

3. UW W B 9W Sasy R 1857 & fikie

BT Qe dEr e — Lo

€

(1) s, TR (Z)é’rem?m
(3) =T SR (@mﬁwm
(&Wﬁam EAF ARSIt AN

4. JMFE P S Afeer Rl d@ A e

i s g @ 91 SRR FR-ER
qgﬂ]‘qT? : 5"

(1) DUSH AR SR TFIHAT

(2) afgTe iR SEEE

(3) et iR gegd N

(@) ersars iR ke | ¢

(5) srgeRe W -

e 3 9 feaRy fesar?
@) Jvgipred
(2) s
(3) SRR i
@) TurN ol
(5) sraiRa g

PN
LR

PN B O 'SERD R Heriar 87

(1) Nicholas II (2) Alexander I () e I (2) oS |
(3) Nicholas I (4) Alexander II (3) e 1 (4) eigaver 11
(5) Question not attempted (5) SrFIRG U
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7. ‘Who among the following was not 2 member of 7+ FF=ifiRed § ¥ B ‘Hig & BERER Tor’
the ‘Cordeliers Club of France’? B G ol AqT?
(1) Danton (2) Habert (1) S @ &2
(3) Marat (4) Robespierre (3) 1e @ AR’
(5) Question not attempted (5) srgiRea weA

8. In which session of Congress the Quit India 8- HRINT gRT WG, 1942 B fba sif¥aeE o wRa
Movement Resolution "was passed in * SIS IMQTeM BT UM TIRG gai?
Apgust, 1942? . ) . () T3 afere (@) T R 3 .
(1) Bombay Session  (2) Poona Session '
(3) Nagpur Session @ M:;dras Session. () TR <A (8) FETRT SAferereTT
(5) Question not attempted 3 (8) srgafer y=

9- The word “Mansab” was derived from which 9 "7999" ¥ & SRT fFa wwT & g 87
language? .
) Urdu (2) Persian Mg @) o
(3) Arabic* (4) Hebiéw (®) st @) e,
(5) Question not attempted (5) aFpaRa ued |

10. The book of Gupta period ‘Romaka Siddhanta’  10. [wiaTele Jers e Rigia’ Wl off —
was relatéd fo - ! (1) TR R @ 55§
(1) Mathematics 2 Religi,()fi @) qaliE - @) & g
(3) Technology (4) Astronomy
(5). Question;not attempted 1+ . (5) SrFeIReT 1 )

1. Which of the following pair is not correctly —11- 7/ & & Piar g Gifera «i&f 892
matched? () arewRE — G
(1) Vatsyayana - Panchtantra,
(2) Bharavi - Kiratarjuniya (@) R — Fvmarr
(3) Harishen - Prayag Prashasti (3) BRYTT — TEWT wEIRa
(4) Vatsabhatti - IZ/II<andsaur Abt%ilekh (@) T — RN AR (AR 1)

umargupta

(8) Quesﬁéﬂﬁflot attempte“::;1 P ©) 313 e

12. Who served as the ‘Dome” builder of Taj Mahal?  12- o™l & a5’ fomior &r'aid s fear?
{1) Geronimo Veroneo (2) Ustad Isa Effendi () IR R (2) SxaTe 9T SBE
(3) Ismail Khan (4) Ustad Ahmad @) yEza @m . (4) ST s
(5) Question not attempted (5) erIRa U=

13. Name the archaeologist who first pointed out the 13- 99 YRiceafag &1 A4 gargd e ToM IR 4F
similarities between Early Harappan Culture and TS Ul AR TR TS WRHa B
;L‘Trban Harappan Culture. . | BT X@ifdd By ‘
(1) D.H. Garden (2) Mortimer Wheeler (1) Qrve. T (2) wiféR e
(3) John Matshall (4) Amalananda Ghosh @) Sit " (4) 3rFTeirg €Y
®) Question not attempted ‘ (5) SR e
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14.

Who among the following were associated to the
establishment of the revolutionary organisation
‘Anushilan Samiti’ in Bengal?

@ Barindra Kumar Ghosh

(i) Bhupendra Datta

(iii) Khudiram Bose

(iv)  Prafulla Chaki

Select the correct code -

Code -

(1) Only (i) and (ii)

(2) Only (i), (ii) and (iii)

(3) Only (iii) and (iv)

(@) All (i), (iD), (iii) and (iv)

(5) Question not attempted:

14,

fr=faleg & | 99 durer ¥ wifdery Gwen
‘SrRiie |l B e | SeEa o9
() IR=EFRIAT

(i) o= &

(i) GERM 9

(v)  vgee @t

B HE BT I "BIoIG. —

W - u

(1) ®aat (1) T (id)

(2 Bad (), (i) T (i)

(3) ®aat (iii) T (ivy
(4) (), (ii), (i) T (@iv) T
(5) arqaiRer e o

15. The accountant in the Shivaji’s administration  15. Rrarsht & wemas ¥ ?i@l’cﬁl? ﬁ EIFb‘RT ST
was called - ' ’ o —

(1) Dabir (2) Majumdar (1) gaR () HGEEW
(3) Surunavis (4) Panditrao () guIEE (4) dfEaxE
(5) Question not attempted (5) eraRa e el

16. Where was the headless 'standing statue of 16- Bfesp @1 RREM < 9t Rrgey fraer wrr 3
Kanishka found with Kanishka’s. name inscribed HfTh BT M Gal 8, PaEl I g —grg ofi?
?f)ﬂfls‘)“"m? @ Gandt (1) sPRra - (2) TR

aravatl andhara :
(3) Mathura (4) Nagarjunakonda ®) ™ @ g
(5) Question not attempted (5) SR et
17. Who among the following compared 17. il @ foas e A B g
. “Salt March” to Napoleon’s March to Paris? ﬁ oifera & URE A/ 9 T ol
(1) J.L. Nehru (1) Sigel. 8% B
(2) Chittaranjan Das (2) RRISM a™ Lt
3) Subhash Chandra Bose (@) Ty T 49 L,
(4) Mr. Brailsford (@) 57 seapre ‘
(5) Question not attempted (8) SrgiRa we o
" 18. Who founded the ‘American Philosophical 18- ‘siiRee feifeifbre Wrarkl o <o
Society’? ' e & o7 RN '
(1) Benjamin Frarklin (2) Thomas Painé * (1) ot Bafem (2 offide
(3) Samuel Adams () Patrick Henry (3) et TR @) e T
(5) Question not attempted (5) r<iRe e .

19. The title given by the British Government to 19 f3feer WRPR gRT F&wHT il iﬁ[ é‘r TS Uy,
Mahatma Gandhi which he surrendered during T 98I SIS JMieTa Eﬁ aﬁ?F{ N ﬁ'{ﬂ
the Non-cooperation Movement was - o, I8 o —

(1) Rai Bahadur (2) Honourable ‘Sir’ (1) 77 qETGR 2) q | v
(3) Kaiser-e-Hind (4) Hind Kesari (3) dER—T—f2=g @) Rz ad
(5) Question not attempted (5) aﬂ\——[ﬁq EC '
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20. “Tropical-wet evergreen foresis”, are mostly 20- “Swrpfedfig—and WeEeR 99", uRa § o=
found in which part of India? ¥ 9 frw 9 ¥ e 9 o 8
(1) Central Part  °  (2) North-East (1) 77 T 2 SR-gg
(3) North-West (4) ‘South-East (3) STR—uf¥em (4) <feror—qd
(5) Question not attempted (5) SrgiRa e
21 As per Census 2011, which among thie following ~ 21- ST, 2011 & JFER, SR
group of districts is having highest literacy'rate =~ Fieraa fen &g § 4 ol wqifte
in Rajasthan? WERAT T Il 87
(1) Jaipur, Sikar, Alwar (1) SR, HigR, 3feleR
(2) Kota, Jhunjhunu, Sikar (@) Brer, g, SR,
(3) Kota, Jaipur, Jhunjhunu (3) Biey, GRIER' EES .
(4) Jaipur, Jhunjhuntu, Sikar @) SR, FEF, daw
(5) Question not aftempted - (8) SFRIRT e
22. Which among the following is/are hot winds? 22. foyifese ¥ & ) T gar/Ead %/ %’-’
(&) Foetn @
(B) Mistral B) frsa N
(C) Chinook . © T%'T‘:E ‘ )
(D) Bord . . @) IR
_ Select t_hé icorrect answer from the code given % e o o J T TR FT TAT ERT —
below -~ ™ . ~ A ‘
Code - e - _
(1) (A) and (D) are correct - (1)_(A) =11 (D) Wﬁ_%
(2)-(A) and (C) are correct (?) (&) I (C) wEl §
(3) Only (C) is correct : (3) Bae (C) wel § . X
(4) (B) and (D).are  orrdll (@) (B) 7o (D) WY §
(5) Question not attempted. (5) argaiRa we
23. ‘Barakar’ is a tributary of - ﬁ& Y Th YIS 41 8 —
(1) Satluj River (2) Yamuna River () Ggers TR d (2) IgEr 98 @
(3) Mahananda River  (4) Damodar River (@) AETIRT IS BT (4) SRR T B
(5) Question not attempted (5) IrgaiRa =
24. Which ofthe following Iron and Steel Plant was 24 fawifeiRag & & @i die—surd G35 oo
set up in collaboration with Germany? & e & wnfia frar war 82 .
(1) Bhilai Steel Plant (1) PreTd ST i
(2) Rourkela Steel Plant (2) TSBET T G
(3) Bokaro Steel Plant () IR SR AT
(4) Hirapur Steel Plant 4) ERIgR ST WA
E (5) Question not attempted ®) Glﬂ'ﬁﬁﬁ EEG ]
22 -+ | Page 5 of 32
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25. Identify the river of Rajasthan on following 25 fSF=ifoiRaT Tod & IR W oM @7 wdl
facts — B IS DT —
(A) 1t originates from Haripura Village Hills (a) IE 74 Ry g ) wERRAl (RrilsTe)
(Chittorgarh). ¥ ST Bl B
(B) It meets Chambal River near B) IE I=H T4 H doNIsTe B TN A
Bhainsroadgarh. S B
Code - e -
(1) Chakan (2) Bamani (1) T () 9,
(3) Gambhiri (4) Mez (3) iy @y
(5) Question not attempted , (5) s}gﬁﬁa T '
26. The instrument for measuring relative humidity ~ 26- WU SMTSHAT BT A BY UG § -
is. - ‘ e . ey
(1) Hygrometer (2) Anemometer M e (?) e
(3) .Aneroid barometer (4) Hydrometer () TRIgs Wrflex (@) glsgi iI“EE
. (5) Question not attempted (8) rgaiRa = ‘ L.
27. The highest tides in the world occur in - 27: feg ¥ TR ARF S P Tcrl?iﬂ'ﬁ g -
(1) Hudson Bay (1) o9 & @ ¥ S
(2) Bay of Bengal (@) Fret B @ At
(3) Bay of Fundy (3) oS WIS H 1A
(4) Mediterranean Sea (4) rem ArR 3 eunms
(5) Question not attempted (8) argaRa wgst 3 st
28. The ‘Israna Hills’ are located at - 28. ‘gERIAT UBTSAT AR § — .,
(1) Sikar - Jhunjhunu () diaR — g7 -
(2) Karauli - Sawai Madhopur (2) B — warg Wg?
(3) Jalore - Sanchiore (3) SR — wiER ’
(4) Rajsamand - Udaipur (8) TR — ISAYR -3
(5) Question not attempted (5) IrgaRa we nine
29. Who recognized the two major layers of the 29 H¥c T Wavged Pl Yol Bl QI VKA URA e
Earth as Crust and Substratum? 2 e
(1) Pratt (2) Holmes (1) 3 @ 8/ ¢
(3) Daly (4) Suess @) Seir @ ge, ve
(5) Question not attempted (5) IrgaIRa wed
30. Which of the following is.a cold current? 30. RrfeRae 3 ¥ BRY o0 SARNT 87
(1) California (2) Florida (1) SR (2) TfeeT
{3) Guinea (4) Kuroshio @) = (@) R
(5) Question not attempted (8) IrgRIRa we o
31. The ‘Nubra Valley’ is situated in - 31. a1 wrE) Rerg & — O
(1) Shivalik range (2) Karakoram range () Rratferes sl & (2) PRIRA ot §
(3) Zaskar range (4) Ladakh range @) SRR Ao & (4) TR Sl A
(5) Question not attempted ' (5) IrgaiRa v o
22- Page 6.0f 32

Page 6



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

32. Where is the ‘Instrumentation Ltd.” located?
(1) Kota (2) Jaipur.
(3) Alwar (4) Ajmer

(5) Question not attempted
33.

linear distance (along a meridian) between
5°10' N latitude to 7°50' N latitude?

(1) 288 km (2) 290 km

(3) 302 km &) 296 km

(5) Question not attempted

Which among the following is the approximate .

32 g Rt Fel sraRem #7 -

(1) P @R
 (3) srR BECE o
(5) ARG g o

3. f=ifea & PR 5°10'9. 0T J 7°50' 9.
ey @ g ([FO U TR W D OAR)

S R 87

(1) 288 fpAAL. (2) 290 f5H,

(3) 302 fa. (4) 296 fp .
@) eIRG e

34. The cyclonic rain that occurs in Kamataka 34 Hiw1 g # Prfced 4 &9 aren ﬂ’ﬂo_cﬂ‘cﬁ 81
during summer is - -
(1) Mawat . (2) Norwester (1) Age (2) FRIwER ”
(3) Kalbaisakhi (4) Cherry Blossoms (3) B ST 4) 29 iraT «
. (5) Question not attempted ‘ (5) srIRa e L
85. Garh, Kotri and Mangrop.are.mining areas of - 35. 71g, Pl AT HIRIY G & § —
(1) Magnesite (2) Fire Clay () rege (2) BrRIR. T
(3) China Clay (@) Silica Sand. (3) 1T T @) Riferar s
(5) Question not attempted (5) SFRING U Y
36. The average Albedo of the Earth is - 36. gedi o1 3T WSt § —
(1) 31% 2 27% (1) 31% @) 27%
(3) 47% (4 35% () 47% @) 35%
{5) Question not attempted (8)-srgaiRa He | i
37. The ‘Ilgj—;saw-ﬁt' evidence is related with the 37- '"WRI—IITG=T W07 forg fgia ¥ '\’Tslﬁﬁr g,
theory of - TEE — -
(1) Plate Tectonics - Hess (1) <e i — &9
(2) Convection Current Theory - Holmes (2) ge o3 Rigia — 8/
3 Con}}nental Drift Theory - Wegener (&) Hg@tﬂuﬁw'q:r Rrgia - a'lFlj\’
@ Geosynclme Theory - Kober @) =g Rigia — deR
(5) Quesuon not attempted (8) srgaiRa gz
38:"Which of the following is an example of Shield 38 fr=ffoiaa & & BIFwT T& Hiee Tcﬂ?]TﬂTff E2l
Volcano? IR 87 R N
(1) Vesuvius (2) Mt. Fuji ) fogfema -~ (2) Frgve. ol
(3) Hawaiian Islands  (4) Mt. St. Helena (3) Targ FIerE (4) w99 T FoF
(5) Question.not attempted (5) SrgaiRe ue
22- % Page 7 of 32
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39. Which of the following statements are: correct

‘about Keynesian Consumption Function? Select
correct answer using code given below -
(i) Monetary consumption is a stable function
of monetary income.
Marginal Propensity to Consume (MPC) is
« positive and less than one.
(iii) Long run MPC is more than short run
MPC. ,
APC falls as income increases-and MPC is
less than APC.
Code -
(1) Only (i) and (ii) are correct
(2) Only (ii), (iii) and (iv) are correct
(3) (i), (i), (iii) and (iv) are correct
(4) Only (i), (ii) & (iii) are correct
(8) Question not attempted

(i)

(iv)

40. Consider the following
Elasticity of Demand (exy) -

regarding  Cross

(A). If x and y are substitutes, then exy is
negative. s
(B). If x and y are complements, then exy is
positive.
(C). If x and y are not related, then'exy = 0.
Choose the correct option -
(1) Only (A) is correct
(2) All (A), (B) and (C) are correct
(3) Only (B) is correct
(4) Only (C) is correct
(5) Question not attempted
41. Choose the correct option that shows —
(a) Number of Sustainable
Goals,
Year of its declaration and

Development

(b)
(c) Year of target-achievement

respectively from the following -

(1) 7,2000 and 2015  (2) 20, 2020 and 2030
(3) 15,2000 and 2015 (4 17,2015 and 2030
(5) Question not attempted

39. for § W B BN A D ST B B
IR w82 A9 R 1 g B SwiT B
T WS T T -
@) dfees s, Hifts e a1 ReRr baw
gl
(i) SUERT B dHid TR (MPC) S <ol
TH § B BN B
(iii) “Erefpreli MPC, WMPC%ST%
BT B
(iv) 3 9= W APC ®redl & T2 MPC, APC
I P4 B B
a&?‘_
(1) Saet (i) eI (i) F& &
(2) B (i), (iii) T (iv) T §
@) @), (3i); (iii) T (iv) & &
ange(4) DI (), i) T ) WA E |
ﬁ&a‘:ﬁrﬁam ,
40. qma%ané‘r”&ha(exy)fﬁmﬁﬁﬂw
o= Y —
(A). u%xaﬁ?ywmmr—rr g, ?fr exyw
ﬁ?ﬁ%l Y
®B). Hﬁ“xaﬁ'\’yqﬁfﬁﬁﬁexym'cﬁﬁﬁ§l
(©). IE xRy Faftrg 78 & @ exy= 0 TXI¥

gl a
el Ty aﬁ B ot
(1) Bt (A) el & A,
() (A), B) 3R (C) &+ W&l & 1}
(3) Bact (B) WEl & | .
@ PaeT (C) T & b
(8) sraRa I nev
a. ?ﬁﬁr i ¥ v wd Row o1 fm:r BT,
() wad Ao @ear o G@Hs
(b) SES =T & 9 AR .
© -Suald 98 ‘
BI HAL: AT & — o
(1) 7,2000 3R 2015 (2) 20, 2020 3R 2030

(3) 15,2000 31" 2015 () 17, 2015 iR 2030

(5) sraRa w=

Page 8 of 32
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42.

43.

44,

Usual’ status of unemployment is also known
as -

(1) Hidden Ungmployment

(2) Cyclical Unemployment

(3) Frictignal Unemployment

(4) Open Unemployment

(5) Question not attempted,

Consider the following statements with Indian

reference =

(A). M2 =M, + Time Deposits with Banks

(B). Mj is also known as Aggregate Monetary
Resource. "

Choose the correct option -

(1) Both (A) and (B) are correct

(2) Only (B) is correct

(3) Only (A) is correct

(4) Both (A) and (B) are incorrect

(5) Question not attempted

Match List-I with List-II and select the correct

answer by-using the code given below the lists -
List-1I

Arithmetic Mean

Median

Mode b
List - 1L

It divides the distribution into two equal

parts.’

(4)
B)
©).

®
(if)
(iif)

It Jis a stable measure of Central Tendency.
It is the best representative value of the
series.,

Code -

(1) A-(), B-(ii), C~(iii)

(2) A~(ii), B-(i), C—(iii)

(3) A—(if), B~ (i), C~(i)

(4) A-(iii), B-(ii), C-()

(5) Question not attempted

=

42,

¢

43,

44.

GET IT ON
Google Play

e
RIS B T Ry g8-f Peend 2
() ot g€ R
(2) TR ARSI
3) givTHS SRISFITRY
@) el R

() Fg<IRa ue
qRAr uRdey § e ol W fAER N -
(A). Mz=M; + Jbi & U @iy S
®). M; BT T Afew GERA 9 P o

gl
el faped o —
(1) (A) 3R (B) ST WL ©
(2 o9at (B) @8I
(3) Baet (A) T 2
@ (A) 3R (B) < Tora &
(5) SFf=IRT Ued
-1 o1 G-I ¥ e W &R v 919
R T I BT ST B g L TR Bl
T P —

& — I
(A) AR 94 -
(B) wifeaepr N
(C) dgeld
& - I
TE de BT |1 G AR # [IiorT Seen
gl
(i) U8 D WgRT BT GReR Huw ¥
Gii) T8 SN @1 wdss URIFART qou €1
w-
(1) A-(3), B~(ii), C(iii)
(2) A—(ii), B~(i), C—(ii),

3

®

uw

¥y

(8) A~(ii), B~(iii), C~(1) ;
(4) A(ii), B-(ii)sC~() o t
(5) srgIRe ww o

22 -

0

O Page 9 of 32:

Page 9



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

e

GET IT ON
Google Play

SN
- —

45:-Consider. the“following staterhents regarding 45. W & Waer F T ol W =ik o —

MGNREGA -
A. It was started in 2006.
B.  Underit, NREP and RLEGP were merged.
Choose the correct option -
(1) Only B is cerrect
(2) Both A and B are correct
(3) Both A and B are incorrect
(4) Only A is correct
(5) Question-not attempted
46. If toz) much money is chasing too few goods, the
resulting inflation is known as -
(1) Stagflation
(2) Demand-pull inflation ?ﬂ
(3) Cost-push inflation
(4) None. of the above
(5) Question not attempted

47. Which of the following indicators is not included

in the construction of Physical Quality of Life
Index?"
(1) Infant mortality rate (2) Life expectancy

(3) Basic literacy (4) Per capita income

F~

(5) Question not attempted

What will be the value of Mode in a moderately
asymmetrical distribution with Median 280 and

48.

Mean 310? on
(1) 290 , (2) 200
(3).220 (4) 320

(8). Question not attempted
49. Suppose the prilhgry deposit of banks is ¥ 10,000
and the cash reserve ratio of Central Bank is
10%, statutory liquidity. ratio is 25% and the
unutilised ratio of deposits’ with' banks is 5%,
then the total deposits will be -

46.

47.

48.

49.

= o
) Ry 9 = - (2) Sfes g
(3) STRYE WERAT (@) ufy @ e
(5) 3rgaiRa e aon

A TH FOIR 2006 F§S NN

B.. 9 dUgd, NREP iR RLEGP &7 faer
PR 3 W)

Tl [dey g —

(1) BIa B W8l &

@AIRBIFI W E

(3) A 3R B < et € B

(@) I A WETR

(5) srgie U {

Ify 95 e gaT 9ga B GEE bl

SRl B O 39 URUFRERY BN

AERHIT HEARH & —

(1) R

(@ Wi 3Ra FE

(3) TSI ERHI

@) SR § § Big T “r

(5) <IN U=~ o

= 4 & fpa<dads @ i SuiRie ora

Ei B Frafor § wfafe w8 ’bar w82

o

]|
Tqrelt

A

it 280 SR AR 310 AT WG SRR

HOT

41 H 9 BT A T B? gy

(1) 290 (2) 200 ssunt
(3) 220 (4)320 Ac”
(5) arqaRa we o

T AR B 8T @ areifg. o
10,000 35 3R o= §F &1 FAHs MREE
U 10% B, TeNfIh ARl SIgHN 25% &
5% €, A FF O AR BRI —  »r

(1) 215,000 " (2) 2303000 1) 15,0002 (2) 30,0002 1
(3) 20,000 1 @) 225,000° (3 20,000 (4) 25,000
. . R 4
(5) Question not attempted - o (). SR g ¢ ' , ]
22 - % " Page 10 of 32
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50. If Government imposes an excise duty 6fi the 50- I WER X’ I¥G W SE Yod AR 8,
commodity ‘X’, then - ar —
(1) No change in demand and supply. curves of . (1) X’ % T 9 g T ¥ Dis YRaaH 8L
the ‘X’. r Bar|
(2) Supply curve of commodity ‘X’ will shift to @ awg X’ 91 gff o QiR e fEkia 8
the right. STRIATT |
(3) Supply curve of commodity ‘X will shift to @ R X F Ui g% IRl @ faafda &
the left. SR |
() Demand curve of commodlty X will shlft to @) T¥g X’ BT AT 9% QiR ok gk 8
the right. STRRTT |,
(5) Question not attempted (5) IrgaRa ge
51. Which of the following statements is true for 61 & Oy e & oy e & @ P19 HoF
Disposable Income? I T
(1) Disposable Income is the difference bétween (1) @ arg [ ol o iR Toe o B
Private Income and Direct Taxes. 4 BT 3N B
(2) Disposable Income is the difference between (2) 59 I9FY I Jafdas i 3} ITucue Rl
Personal Income and Indirect Taxes. @ 99 BT SR B
(3) Disposable Income is the difference between @) =g ary g Jufae Y IR gwE i
_ Personal Income and Diréct Taxes. % 99 P KR 2|
(4) Disposable Income is the-difference between @) &= 97 I Aol ey &l e Rl @
PrivateIncome and Indirect Taxes. 4 BT IR B
(5) Question not attempted :_ (5) srifRa e :
52. In which of the following situation the primary ~ 52. /=7 § & 59 URRIfT # WaR @& Io€ o1
deficit of Govérnment Budget tends to be zero? RIS =T a'rn?
(1) When the'net interest payment is zero (1) 19 Y€ &S FraE T4 2
(2) When revenue deficit tends to be zero (2) Wi NoINT HTe] I B S
(3) Wherg fiscal deficit is zero (3) o e e I @
{4) When fiscal deficit is equal to interest :
payment _ (4) 59 ISP TET AT TEF & IR 8
(5) Question not attempted @ () srgeiRa et
'53. Which one of the following statements is correct >3- SUHIGAT gt @& deu § 9 § 4 P
regarding the Consumeér Equilibrium? U HEl ©7
(1) The slope of the indifference curve is less (1) TR 55 BT Slet, IOIC V& F T § T
thanihe slope of the budget line. Bl & |
(2) Thétconsumier’s valuation of the goods is @ gl & fov Swiwr o1 qedie,
greater than the market valuation. ISRl | Afes 8 81
(3) Thé:§lope of the indifference curve is greater (3) TEwICT 9% BT @Tel, qoic ¥GT B el |
than the slope of the budget line. feres B 8 |
(4) The Slope of the indifference curve is equal (4) TR G BT IT, qoic @l B CIE] Ed
to the slope of the budget line. IR BT &
, (5) Question not attempted (5) SR WA
22 % Pagé 1£0£:32

"W

Page 11



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

54.:Whicli of the following is most liquid measure of 54 et & 71 gff &1 Fimy & 9§ wYear a9 waife

55.

money supply in India?
(1) Ms () M,
(3) Ms, RV ;

(5) Question not attempted

As one moves upward from right to left along =
negative sloped straight line demand curve, the
value of price elasticity of demand -

W 87 :
(1):-M; @M

(3) My @ M,

(5) srgaiRa ysH

T W I8 SR P AR R0 S99 W) T B
BT @ —

(1) decreases. (1) e 21
(2) remains constant. (2) ReR <= &
(3) increases. (3) gt &1 .
(4) first increases, then decreases. (8) vgot ge<hi &, R T 21
{8) Question 1ot attempted (5) SrgRIRT W
56. Income elasticity of demand will be zero; when  56- HRT & 311 dlia g &1, AfX &1 ¥ e T
a given change.in income brings abouit - gRed — '
(1) a more than proportionate change in quantity (1) |t a5 AT # Ui uRaw & e
demanded. EIRGRE SIS ‘
(2) the "equal proportionate change in quantity (2) ARy 978 AT H WA Ui UReR S
demanded. Bl ot
(3) no change in demand. @) |7 § uRecds & o 21 ol
(4) a less than proportionate change in quantity @) 4T T wEn # Uik flﬁ'c]?ﬁ ¥ P
demanded. R I 81 ' )
(5) Question not attempted ‘ (5) argaiRa e
57. Consider the following statements — 5. fm ol R AR ek — 7
(A) Change in demand means a movement (A) =T aRadw @1 eref el a¥g @) B
along a given demand curve for a ¥ gRed & gRvmHawy RTNT 97T 9%
commodity as a result of change in its ) R ¥ £ 9k
®B) g:::ge in quantity demanded is a shift in B) W T A A Ry B ERﬂ @
the entire demand curve of a commodity : S i
resulting from the change in the @1 i o A Sfr A mﬂaﬁ
individual’s money income or tastes or @1 PR F TR P AROTFw g
prices of other commodities. gl Wit s
Choose the correct option - el [Amed ﬂef = o
() Only (A) is correct (1) daer (A) T8 B )
(2) Both (A) and (B) are incorrect 2 (A) 3R (B)<HI Tod &
(3) Only (B) is correct (3) DaeT (B) W& B
(4) Both (A)-and (B) are correct @) (A) Ik B) TFI S T
(5) Questibn not attempted (8) argaiRa ueH f-
22 % Page 12 of 32
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58. Consider the following statements about
Procedural Justice -
I The

corresponds  to

of Procedural IJustice
the of

notion

philosophy
Socialism.

(M) Ittreats the rules of Market Economy as the

model rules of human behaviour.

Choose the correct option -

(1) Both the statements (I) and (II) are not correct

(2) Only statement (II) is correct

(3) Only statement (1) is correct

(4) Both the statements (1) and (II) are correct

) Questlon not attempted

58.

»

TrareTE T B R 3 iR weEl R

e Hifig — ,

(D) viPaHe UE P URON, GESERE D
T B AT B

(D I8 R sefemen & FeEl o g
JAGER P A1y Ml & ®Y 9T B

wE fmen g -

(1) e (1) 3R (1) <1 a0 = §

(2) Paer woF () TS &

(3) BaaT P ()T ®

(@) e (D) o (1) S e

(5) SRR g

59. Who among the following is author of the book 59 f=fiRaT § 9 oW ‘Pfichrw s wed
‘Capitalism.and Freedom’? TRI5. B oD 57 ‘
(1) Tsaiah Berlin (2) Milton Friedman (1) sEE Sfe (2). FreesT i
(3) R.H. Tawhey (4) 3. Macpherson (3) IRy, € (@) 5. AFHR
(5) Question not attempted (8) SR W=
60. Which o{ the following subjects-are included in 60 Fr=fiRad ¥ ¥ PR Ry wRa & i &
the State ]'_ilSiJ: of the Constltutlon of India? 5 A | afeafera 87
() Insurance (O IG]
(Il) Capitation taxes I vl a1
(D) Fiheries ' () ey
aw) Ecénpmic and Social Planning V) e 3R ARG DS
Choose the correct option - el fddeT &1 = POy —
(1) (D, (7D and {IV) (1) (@, (D), () 3R IV)
(2) Only?(B.and (II) (2) Baat (1) IR (D)
(3) Only«I), (IIT) and (IV) (3) Taer (), (1) 3ﬁ'\’ av)
(4) Only W) and (III) (4) Baa (1) iR (1)
(5) Question not attempted (5) 3riRa weT
61. In which of the following year India-Sri Lanka 61 ARe—3fciebl GeRl IR G ﬁwrt%@a H
Free Trade Agreement came into force? T fog ausi R gam?
(1) 2005 (2) 2000 () 2005 (2) 2000
(3) 2009 (4) 1998 (3) 2009 (4) 1998
(5) Question not attempted (5) ergaIRa o s
22
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62. According to Almond and Powell, which of t 2. ars iR dide & gER, frefafea § @
following are the outputs of a Political System®ar SN IoHIae Iaeel & Frla: 82
(D Regulative outputs O fafame frig
(1) Cumulative outputs (I =] i
(II) Distributive outputs () faesod forfa
(IV) Symbolic outputs V) viieems FRig
Choose the correct option - & ey 'ﬂﬁﬁ _ ,
(1) Only (1), (I) and (IV) 1) Baa D, (1) 3R (Iv). -
(2) Only (II), (ITT) and (IV) (2) et (I, (1) 3R IV)
@) (D, (W), (D) and (IV) (3) (D, (W), (1) 3R (IV)
(5)- Question not attempted (5) sriRa wea A
63. According to Part-V Chapter 1 of the 63 9Ra & WM & RV A1 B IR,
Constitution of India, which of the following is Y B PRUdT # ﬁfﬂm ¥ 9 9N
not included in the Executive of the Union? |fffera 81 8? ’
(1) President ) sy i o
(2) Attorney General (2) FETgEETE it o
(3) Comptroller and Auditor General (3) f=e iR Hereraaded
(4) Council of Ministers (@) FHIRYg Friet
(5) Question not attempted (5) SrgeiRer 3 e
64. From which of the following Amendments of the ~ 64 fifba & & wRa & Hﬁﬂ]ﬁ’ﬁ il
Constitution of India, the words “Internal @ gR ag%@z 352(1) % & an%ﬁav raifg”
Disturbance” have been subtracted from e ST AT 27
Article 352(1)? (1 420 <ieher b
1 nd . ..
2 465 Amoncment At @ det et SRR |
(3) 39 Amendment Act (2 39EIT W oo
(4) 44" Amendment Act (4) 447t e SR k!
(5) Question not attempted 2. (5) IrgaRa we & o
65. Which of the following statement is not cone@%& IS g/ a4 i foretifee ﬁ
regarding Political Theory/Ideas? J T oY 98 S & s
(4))] Th;l cla;sjcal pol'itical thonlllght is f}(l)ncerneg PR G - CULR T,
with the questions such as the goo
community,qthe obligation of citizeﬁshi;f TR 3 e SR Wﬁ ﬁ NREAAE
(2) Contemporary Political Theory has been (@) FeepTel e i 1?70 @ 3 §
influenced by the ‘foundationalist turn’ in worifoe Rigia 4 qaf@'é}iﬁ!%f\% “ﬂg k|
1970s in Political Theory. , T g 2 | o
(3) Political Theory up to and including modern 3) sy <ol et
period has been a tI:‘,xtual tradition. @ (é?@mfmmaj & A&{' %@ﬁ S e
(4) Medieval political thought was wrapped up NS i .
with the dominance of Christian Theology in (4) TP RISF fer difgs she
intellectual life. S A B ogd | e 3| '
(5) Question not attempted (6) sRiRa yz
22 . o Page 14 of 32
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s ©6. In which of .the following ‘year, the ‘United
Nations Interim Administration Mission in
Kosovo’ has been established?

(1) 1999 (2) 1997
(3) 1995 (4) 1998
(5) Question not attempted
67. Who among the following scholars considered
liberty and equality -as ‘Complementary
Principles’?
(1) R.H. Tawney
(II) F.A.Hayek
(Il) C.B. Macpherson
(IV) A.D.Tocqueville
Choose the correct option -
(1) Only (I) and (III) are correct
(2) Only (II) and (IV) are correct
(3) Only (I, (I) and (III) are correct
(4) Only (I), (III) and (IV) are correct

\

'66.

67.

frifea § 9 59 ad #, arEr 3§ g9ga s
SiaRA wemas R @ RRmuET 37 187

(1) 1999 (2) 1997
(3) 1995 (4) 1998
(5) IR uee

frafaRea g™ 4 9 fran wo=mr @ik
@ ARTE. <

@) THT. 8R-P

(D) A& Aemad

(IV) TSI <ofde

e Reeq 31 au7 DI —

(1) et (1) 3R (D) 9 &

(2) Saer (1) 3R AV) T &

ﬁ (3) daet (1), (D) 31\ (1) G &

@) Bae (), (IID) 3R (V) T &

E
(5) Question not attempted: (5) argaiRa e
68. Consider the following statements regarding the 68 Wgaq < & &M uRye 4§ w9

'Security Council of United Nations - fr=RiRad weMi ™ R o9 —

@ The decmlons of the.'Security Council on O whe R Ae W) e aRye @
procedural matters shall bé made by an NS o ' N
affirmative vote of nine members, ] i {_E 1 DRI qﬁ ferg
including the concurring vote of the five ey, foread grem uReg & uiE <emll
Permanent Members of the Security el @ geafa 7q O aftafer i
Council - (D) 3 TR AFel W, gRem aRe B kg

.(II) Qn al'l other matters, the d?01s1ons of the & ¥ % SN %R’ |
Security Council shall be made by an
afﬁml}atlvc vote of nine members. el fawer of 4=

Choose the correct option - (1) 29 () vd (1) i) '\“Ti?f TE &

) Both the statements () and (II) are not correct (2 daa B () 9 2 ¢

::; gniy statement gi)ls correct @) Bl ?59]:[- an & 2
nly ¢ satement 18 correct L. . "

. 4
(4) Both the statements (I) and (ID).are correct @) For (O ¥ (D 3 ¥ &
(5) Quesgon not attempted (8) argaRar oo
69. In which of the following year, United Nations 69 f=iifda # & fbw o # wgsm s 7
has adopted the ‘Millennium Development ‘M Saauie Moy’ - JTT?

Goals (MDGs)'?
ok, (1) 2015 (2) 2000

) 2015 (2) 2000 @ @

(3) 2001 % (4) 2020 , 2001 2020

(5) Question not attempted (5). 3rgaRa

22. 4 Page 15 of 32
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70. Who among the following considers Political
Science as a ‘study of influence and influenced’?
(1) Steven Lukes (2) H. Lasswell
(3) Richard Bellamy  (4) Max Weber

(5) Question not attempted

71. Consider the following steps of Scientific

Theory Building Proces§ -

(i) Hypotheses

(if) Classification of data

(iii) Verification

(iv) Generalisation

Arrange the above steps in correct order -

(1) @), Gii), (i), Gv) () @Gv), (i), (iii), (1)

@) Gv), Gii), @), @) @ @, i), 3id), @iv)

(5) Question not attempted

72. Consider the following statements regarding

‘Mission SAGAR’ -

(A) It was launched by India in 2020 to
enhance Joint Military Exercises with the
Indian Ocean region countries.

(B) It is consonance with the India’s vision of
‘Security and Growth for All in the
Region’ (SAGAR).

Choose correct option - ‘

(1) Both the statements (A) and (B) are correct

(2) Both the statements (A) and (B) are not

correct '

(3) Only statement (B) is correct

(4) Only statement (A) is correct

(5) Question not attempted

/

;
7

70. fa=ifea § § B9 Womifa Qs o g9 g

YT B P I AT 87 /
(1) W g (2) v, dfade
(3) RaS e (4) a9 qeR
() 3rRIRE U
. Jsnfe Rigia P usar & Feifeg oo -
R IR Pifog —
G) WeheTIY
(i) Tl BT FiTpRor
(i) FeHT N
(iv) WFIEROT _
Wﬁﬁ'ﬂ?"ﬁﬁ'ﬂﬁf?ﬁqﬁmﬁ%ﬁm—

(M @), (i), Gi), Gv) (@) Gv), G, (i), (1)
@) v, GiD), G, @ @ @), (), (i), G@v)
(5) IR A , s
72. fiR AR & R e Bert W
faaR Fifg — '
(A) 3 IR §RT BT TR & $ W D

9l
T Rige W 3N g @ ferg 2020
i
\ 1L[j'¢;v
(B) e WRG & gReHIo ‘& @t & forg
gRaE SR R (AFR) ?%i:ﬂf 760 B ;{
W& R g — ail ;’
s !

(1) B (A) 3R (B) g1 @&l &

NIt
(2) BT (A) 3R (B) N1 W= W81 E
(3) g HoT (B)EE & ;;
(4) B9 BT (A) TS B Ak

(5)31_:1?@?[9'%?[’

ﬁWg%ﬂTWﬂT'I
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|

answer regarding the Act and Amendment in the

3 Consti'tupion by using the code given below —

\ List-I
\\ (Act). N ‘
(A) Constiffion (Nifiety-third Amendment)
Act '
\(B) Constitutioii (Ninety-fourth Amendment)
\ Act
(C) Constitution (Ninety-fifth Amendment)
Act
(D). Constitiition (Ninety-sixth Amendment)
© Act
© SLigt-IE
(Améndmeiit)
() Amendment ii Article 334
(i) Amendment in Eighth Schedule
(iii) Ainendment in Article 164
(iv) Tnsertion of Clause (5) in Article 15
Code - '
(1) (A)-Gv), (B)-(iii), (C)-(ii), (D)-()
(2) (A)-Gy), (B)-(ii), (C)-(), (D)-(ii)
(3) (A)-(iid), (B)-(ii), (C)-(v), (D)-(i)
(@) (A)-(i), (B)-(iv), (C)-(), (D)-(iii)
(5) Question not attempted
74. Who among the following scholar argued that
the ‘state can only secure negative liberty,
positive liberty is beyond the scope of the state’?

(1) John Rawls (2) Isaiah Berlin
(3) Gerald C. (4) C.B. Macpherson
MacCallum

®). Question not atterfipfed
75. Which of the following countries are. not
included in ‘BCIM Economic Corridor’?
(D  Bhutan
(II) China
(Ilf)y Maldives
(IV) Bangladesh
Choose the correct option -
, (1) Only (I and (1)  (2) Only (1) and (III)
(3) Only (TIl) and (IV) (4) Only (I) and (I)
(5) Question not attempted

e
»

GET IT ON
Google Play
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\ 73. Match List-T with List-I and select the correct ~ 73- F&i—I &1 G-I ¥ fam &N 3k sffwy

3R wfem & Py Tu dORE & wwwr §

T Y g PT TN IR §Y WE ST g —
(@rerer)

(&) fe (R deieE) siffm

B) <R (@Fgd! deeE) Attty

(©) ifeerr (Rrenredl s sifdferm

‘(D) e (aradt GaeE) s

I
(weler)

(@) orgeoT 334 # WuRM

74.

- @) IRres L. Tmden @) WAL ﬁama—\ﬂh

75.

(i) omodl A H HURN t
(i) DT 164 F waE -

(iv) ST 151#@@;(5)@% Al
R — .

(1) (A)-(v), B)-(id), (C)-(id), (D)-(0)

(2) (A)-(iv), (B)-(iii), (C)-(0), (D)-(i)

() (A)(iii), (B)-(ii), (C)-(iv), (D)-()

@ (A)-(i), (B)-(iv), (C)-(1), (D)-(iii)

(5) argiRa we=

forfeiRa Rgmi & & P 98 7@ Rar 5
ST DI THRIHD ETT B &M B Febel
2, UPRITD WA= ST B TRR A TR &7
(1) Sife 3 (2) samarE gfer

1

(S)aﬂﬁﬁﬁw
m@w@wmm ﬁﬁwr%ﬂ%emﬁ
B A Ao w8 &7

D em

I ==

() «recig

V) SRy

& fadwes g —

(1) et () &R () (@) Sberer () i (10T
(3) Bae (D) 3R AV) (@) W(I)Gﬁ?(ﬂ)

(5) 3rgailReT U

22- % Page 17°0£32
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76. Match the List-I with List-Il —

List-1
(Committees of Constituent Assembly)

(I)  Union Power Committee

(II) Commnittee on Fundamental Rights and
Minorities

(IIl) Order of Business Committee

(IV) Drafting Committee
List-Il
(Chairmen of the Committee)

(@ B.R. Ambedkar

(b) 1L.Nehru

(¢) K.M.Munshi

"(d) Vallabhbhai Patel

Code -

(1) 1-(c), I-(b), TI-(d), IV-(a)

(2) 1-(a), I1-(b), IL-(c), IV-(a)

3) I(b), II-(d), HI-(c), IV-(2)

(4) 1-(b), II-(c), II-(d), IV-(a)

(5) Questioh not attempted

77. Which of the following is not a test for HIV?

(1) Western Blot (2) Widal test
(3) RIP.A. (4) ELISA
(5) Question not attempted

78. In structural. terms, who has explained castes as
“hereditarily specialiSed and hierarchically
arranged groups”, while as a system, he has
referred to its three characteristics: hierarchy,

2

76. &A1 BT fFaE gE-1I 9 SiY —

-
(e & afik) /
O 9 oha iR
M T IRR T e Wk
)y R warer afify -]
(V) Wi R e /
TE-1I ¥ ! /
(afafr & orae) !
(a) IR I_TH g .
(b) ST, &S ) 55.: /
(© @ua g /
(d) I WIS oA et
€”e — 3 sl M{f
(1) I-(c), II-(b), TH-(d), IV-(a) #4

(@ 1-@), [-(b), T-(c), IV-(a) "
(3) 1-(b), T1-(@), M-(c), IV-(@) "
@) I-(b), O-(c), MI-(d), IV-(a) ©* =H
(5) rgaRa o=, -
R gf‘;f ¥ QA P RS, (HMGT o =
?

- Ale
(1) dreet e @ faera f¥
(3) SIRIE AT, (@) ferar
(5) argeRa T

78. e it ¥, Rees iiEh B derT
WU O fafre ok wEHhe 8 FaRed
W B wu H GET &, Sl Uo WOl &
wa ¥ SR g d Rl B Seed
fer & ugHmw, dura  f@ds sk

hefeditary specialisation and repulsion? gREso? AT
(1) C. Bougle (2) S.N. Dasgupta (1) <. dher (2) Ty, g
(3) M.S. Gore () BR. Chaithan (3) TigE: IR (@) ramesaier
(5) Question not attempted (5). ergaiRa e : we
79. What is the name of the book witten by Herbert 79 TSN fATelyor Hel Ao 98 By 84¢
Spencer which is the first work of sociological WY gRT fored) 8 qId BT I A 87
analysis? : (1) ¢ Bvegs oife GiRMEET 7
(1) A Handbook of Sociology 2) T RRgTe AfEEE h
-(2) The Principles of Sociology @ it v
> (3) ARSI dot
(3) Sociology \ (4) T i SREE
(4) Elements of Sociology < 3P .
(5) Question not attempted (8) SRR W
22 - Page 18.0f 32
k
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l\ 80. Which of the following according to Yogendra

Singh is not a cause of change in the Caste
System? _
(1) Privatization (2) Urbanisation
(3) Industrialization ~ (4) Modernization
(5) Question not attempted

81\ Who has suggested the following dimensions of
communalism - Assimilationist, Welfarist,
Retreatist, Retaliatory, Separatist, Secessionist?
(1) Ram Ahuja (2) T.K. Oommen
(3) Yogendra Singh  (4) G.R. Madan_
(8) Question not attempted

82. In the Purushartha System of Hmdulsm which
Purushartha is considered as the ultimate goal?
(1) Moksha - (2) Ariha
(3) Kama (4) Dharma
(5) Question not attefnpted ’

83. QOut of the following which concept refers to the

critical eye on the world, which observes every
social phenbrmeénon in a larger social context?

(1) Social Research @
e Soc1010glcal Perspéctive %
(3) Social Survey

@ Socé}al{l‘heory

(5) Question not attempted

80.

81.
e R - aefievuEE),  BeuvE),

GET IT ON
Google Play

W Ris & ogER e ¥ F s i
g # R &1 HRT T 87

(1) fositeror (2) FrrBReT

@) siEnfdeRe.  (4) smgFrEieRer

(5) SFIIRT Ue

wiyeTRdar e e sl BT g

qﬁq&ﬂnﬁﬁﬁmﬁwﬁqwm?

- (1) = sgen @ . sl
(3) Irr Rig @ Gﬁ.GTR. S
(5) srg<IRa e

82.

83.

fg o o qouR aawen ¥, ﬁv—ﬂmﬁaﬁ
vy oy /AT T B
(1) Her (2) apef

@) a™ 4) o
(5) srIRa U

frafafes & & SR sumen gRer ®

W

IS TECT BT U AP AHEID Hed A

T oI &?

(1) amfore 2

(2) TaToETE uRkyey
(3) wrHifTe wdeToT

@) amifere Rigia

() o we T

84. Supposé] there is a businessman, being a 84 U WiRR, T& AURI 3, I8 AURI ‘@F? EF? K
busines¥ifan  he comes in contact with D], Toiel, IR ARGIRAT G AUR
'custorrié'x@' agents, income tax officers and trade _ I D GGD H ST B | I 37 FI TR

* unions. The role pattern in dealing with all these, B H Sl YT B BT kAN B, 98

ISCACH . loucciecrenneee e HETT B |
(1) Rolésset '(2) Status set’ () yfeT ufomm ) gRafy wim=
(3) Role conflict (4) Status sequence: (3) yfowr ey (4) Ry 81@3“
(5) Question not attempted (5) I[ART W

© 85. Who amiong the following sociologists 85. fF # ¥ b FwreTEnEn 3[ TAGIIRA Bl
considered sociology as a science that TN B GEY ey Bl HaeE SR Ug
systematically studies and explain overall 5
pirspec_tivé’ o¥ society? i S S Al W%?
(1) P. Gisbert (2) LF. Ward ~ Mo e @ TEyE A o
(3) H.W. Odum (4) FH. Giddings @) gasey, en () vevE. AR
(5) Question not attempted (8) rgaRa we

22 . Page 19 of 32
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86. In ancient timies, what was it called when a  86. UEIe ¥ ¥, uRaRr # TaFIaRy & 9890 3
woman was allowed to have sexual relations Bl Ao i & fiRe fH o w5
with a man other than her husband for the T AN TR RIUT R B A B F
purpose of procreation in the family? HET S 77 ‘ ]

(1) Kareva (2) Incest () & (2) e
(3) Tali sanskar (4) Niyog (3) arell WHPR (@) foamT /
(5) Question not attempted 3 5) 3rgaRa we ’

87. Who defined society as a system of usages and ~ 87- e wiGT BV IRWIYT T4 T del © & T
procedures, of authority and mutual aid, of many BRI yonferai gd ﬁﬁﬂff IR Ud IRERS
groupings and divisions, of controls of human WERI, 3FE '\H‘E\f@ SRR ol AT FIER
behaviour and of liberties? & fra=mill vd el & waRer ¥ 3
(1) M. Ginsberg (2) F.H. Giddings (1) A, et @ wwya: il '
(3) Maclver and Page  (4) John F. Cuber @) ApER W.Aa @) SF . 1R
(5) Question not attempted - (5) argaRe ues ;

88. Who believed. that social classes are @3- IE fBder 99T § % 9l o el
characteristic feature of industrial societies? Tl @ aRBe oo 87 - #b
(1) S.F. Nadel (2) Yogesh Atal (1) TE.T. = (2) Arre e
(3) T.B. Bottomore  (4) M.S.A. Rao (@) &4l deER @) WTET @

(5) Question not attémpted (5) srg=IfRaT T {

89. Who has analysed the functions of caste at two 89. wirfar & Frl ?ﬁ o g1 ®R \til—z rgl'l’«bll%qv AR
levels ~ ritual and ideology? AR ve fisdfig forar &7 g o
m Il:lann;deshwar (2) MLN. Srinivas IR TS @ K’HW N — )

rasa .
(3) RK. Mukherjee ~ (4) D.N. Majumdar (3) e, e (4) SR
(5) Questmn not attempted 5y aﬂﬁﬁﬂ = T

90. Which of the. following is not one of the 90 e & & B Wiy E“i?*ﬁt % ¥ B
measures for eradicating poverty or at least B3 HE?C!TIF w9 H FH A D é&ﬁ[ ¥d Udh i
feducing it 31gmﬁcant1y‘7 TE 87 G /
(1) Creating employment (1) ISATR i 4 tih
(2) Land-man ratlo (2) yR—=e s is0ik
3 Dlstnbutlve Justlce (3) faevor = s 0L
(4) Flow of black money @) BTl o BT YaTE ;r e 1

, (%) Question not attempted- (5) 3rgaiRe o o \
91. Who is Jhe. author of the book “Ending 91 "TRST FRwF: T9 g T I g THD 3
Corruption: How to Clean Up-Indja™? P oTEd P 82 .
(1) K.S.Mathur (2 N. Vittal (1) g4, WRR 2) 1. Rgea
(3) S. Kohli, (4) P.C. Choudhary () T4, sl (@) G ey B
(5) Question not attempted (5) srgaRa u=
22- % Page 20 of 32
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A

human nature’?

. (1) Auguste Comte (2 GH. Mead

(8 CH.Cooley . (4 Emile Durkheim
(5) Question not attempted

. " ;
. L .
2. Who has said ‘Primary groups are the nursery 0@2-' ‘TrRIAP GYE AMg WEE 3 Gt (FR) &,

I8 fre™ war 87 '
et B (2 ShTE A

@) g o (4) vfirer gt

(6) sgaRa weA

93. We can know that sociology is a scientific 93- Ta.UH. ST gRT RY WY aR Rigsi & smiR
subject based on the four points given by ™ & O 9hd & & TR U6 Jgeiep
H.M. Johnson. Which of the following point is - favg 21 f=fofea #'9 o g o 9
not one of them? ‘ T -8l 87 :

(1) Ethical (2) Empirical VEIGCE (2) SrgeraTf3r
(3) Theoretical (4) Cumulative (3 fugides (@) gy
(5) Question not attempted . (58) sraa wee

94. Who stated that “religion is so universal, 94- ¥g fobgar HaT & T “qrg ¥ ¥ o g
permanent and pervasive in human society that e, Wl ‘ud wge & F o B A
we cannot understand society without clearly w3y w9E 91 &9 99 e 35} T TS hd
understanding religion”? % ?

1) i 2) < .
veoe Tmmne e o o
. W R.R e
owse N @)@ TRAEE () ToR. YsfE are
(5) Question not attempted A(5) TR 32

95. Qut of the following which is not an important . 95 fmfoiReg ¥ & Eﬁﬁw e qﬁﬂ?ﬁ E|
source of social change? TRyl S T8l 87
(1) Integration (2) Diffusion (1) gaaRor (2) 7R
(3) Invention (4) Discovery (3) afaspR @) @S
(5) Question not attempted (5) el e ~

96. What do you mean by ‘Unity of command’? 96. ‘I Bl THT W MY T A &7
(1) Subordinate will receive orders from only - (1) aefiviees @1 el & B BizltEan A

one boss. ' <l \
2) SR 3 T ar
(2) Boss can give orders to only orie subordinate. @ N @ il K
(3) Subordinate will receive only one order.- (3) aEeer B B TP & SRS U B |
(8) Boss can give only one order. @) Tﬁﬂﬁﬁ?ﬁﬁ PDaeT TP AR T FobaT B !’
(5) Question not attempted ' (5) arpaRa e

97. “A decision making is the selection of one 97 "< U7 & ¥ 3 W Ret % ¥ Rt v
behavmur alternative from two or more - possible Erl fadey @ Enih 3‘[ ﬁf‘ﬁ'ﬂ HRA B 1
alternatives”. This statement was given by - e Fem 87
(1) George R Terry  (2) Lundberg (1) Sifst amR @ gosat
(3) J1.C. Glover (4) Herbert Simon (3) 9.+l TolER @) g Q:ngiq:r ‘
(5) Question not attempted (5) aﬂaﬁﬁ PECT !

- = 7
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98. Which. of the following is not- a principle of 98- Fr=ifeiRaa # & P A5, yay &1 g/
scientific management? & &7 '
(1) Individualism rather than cooperation (). GeFHIRaT & I TR SaE
(2) Use of Science rather than Rule of Thumb (2) 33 & PR B I W RN BT ST
(3) Ham:lony rather thafl discord N @) g8 3 SN ;
(4) Maximum production rather than limited o e
production ’ (4) WA ST P I W BT ST

e 2 .
(5) Question not attempted 1@ (8) rgaRaT o= )
99. Who is the originator of the idea F99. 59 fduane 3 SHIO-WRTET ﬁifﬁ‘ﬂﬂ El “

Politics - Administration dichotomy? uRwT B l |
(1) Henri Fayol (2) Mary Parker Follet (1) =9 B @) ¥ TR PR !
(3) W.F. Willoughby  (4) Woodrow Wilson @) S uw. et @) g1 fRewd
(5) Question not attempted (8) sraa we -
100: I how many groups did Hefiri Fayol divide ffie 100 TR, BT 7 AT lefie Susme @ wR
totality of activities of an inddstrial undertaking? fopanail ﬁ?ﬁef Wﬁr i El"l"c"T ’%*?
Mo (I mo ()8
®s5 @6 ' - @5 .~ @6 n
(5) ‘Q'Yflléstibn"not ﬁi:tempted (5) SrgaRT T er.y
101. Which of the following is the correct sequence 101 foraifaraa ﬁ TR LT@?ZH BT FEl HH
of the communication process? m %? } ' |
(1) Sender; Message, Receiver, Feedback, ! ik
Medium : (ﬁwﬁw o, ST, yfkiishar, w@weE
(2) Sender, Message, Medium, Receiver, " (2) TEE, WY, AR, W, SRk
Feedback .
(3) Mes§age, Medium, Sender, Receiver, (3) Wy, 4RI, TR, EITEI'ct;%f, wfafsmar
Feedback ‘ . | : t.
(4) Message, Sender, Receiver, Medium, (@) W, I, y q-'f.fg s
Feedback () sr<iRa U zmc; }
(5) Question not attempted i
102. How many reports were submitted by First 102.9RG & WM WINIG '\jﬂ'l? GTPJ‘FT 5 o }
Administrative Reforms Commission of India? EIRCEL RS CRCD T fare®
(1) Twenty (2) Fifteen | M) 9= 2) 758,
. @) Ten | (4) Eighteen @) ¥ (4) SIS,
(5) Question not attempted ®) Sﬂﬁﬁﬂ e S
103. Who among the following is associated with the ~ 103- e & @ o= ‘\’;‘Q‘Rﬂ'ﬂ?ﬂ D aflsr Kl
‘Zone of, Indifference’? TR 87
(1) ChesterBamnard  (2) Elton Mayo (1) TR TR (2) Gee R
(3) MLP. Follet, (4) Herbert Simon (3) Td. Bioic @) s Ty
(5) Question not attempted (8) SrgaIRa we ’

O ’ 3
22 . P@ of 32,
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104.'Which of the following is not the main

proposition of Human Relations Approach?

1) Personal interest of employees

(2) Motivation

(3) Informal organisation of employees

(4) Individual difference

(5) Question not attempted

Who was not the member of First Administrative

Reforms Commission of India?

(1) Harish Chandra  (2) K. Hanumanthaiah
Mathur

(3) G.S. Pathak, (4) V. Ramchandran

(5) Question not attempted

‘Who among the following was appointed as first

Chief Information Commissioner of India under

the provisions of Right to Information Act,

20057

(1) AN.‘Tiwari (2) M.M. Ansari

(3). Wajahat Habibullah (4) O.P: Kejriwal

(5) Question not attempted

105.

106.

107. The Third Minnowbrook Conference was

organised in 2008 which had the theme — ‘Public

Administration-of Future, Public Management of

Future & Public Services of Future’. Who

presided this_ conference?

M Rosemary O’ Leary (2) L.D. White

(3) William A (4) Vincent Ostrom
lekanen

(5) Quest10n not attempted

Who is known as the forerunner of ‘Human

108.

Behaviour Approach’ of organisation?

(1) Herbert Simon (2) Chester Barnard
(3) Mary Parker Follet (4) Elton Mayo

®) Questlon’not attemipted

GET IT ON
Google Play

104.

105.

106.

L)

107.

" 108.

ﬁwﬁ%aﬁﬁmﬂmﬂumwm@
ERSICIG - T
(ﬂmﬁa‘rmﬁvﬁﬁﬂ )

(2) arfrRor - .
(&mﬁmﬁaﬁmwﬁwﬁmw 0
(4) fFrTg SR AR
6) orpala e ‘
ﬁﬁm%uwmwﬁmwwmﬁ
e 8] oar? ‘ e
) 88w o5 AR () B, T

(3) Shgw. ures @& v
(5) sraRa ued

Ol BT ARPR AR, 2005?r%m'cren=fr$
Whﬁwmﬁﬁmmﬂgmg@

VT SRt et fomam T

(M gy, e (2) TAGH. IR
(3) goTEd TdigeeE  (4) S Wﬁ'&na
(5) SrgaIRa e '
mﬁmmmmos#mﬁmgﬁ
3 oM Y Snegeral fbem @Y .

(1) ARy e (2) Tei Sl =1ge
(3) fafermw © MR (4) fae amfrq
(5) argaRa w3

GUCE R wwq&m‘rﬂrmwm
AT ST 87

() & wrga @ %Ranmkvf .
(3) 3 uER Bioe. (@) Toe Ay
. 8) SrgaRa o

109. Which of thé following is not correct regarding  109- wiiebuiet Te dBIga SRR, 2013 ES '\‘R‘*f i
Lokpal and Lokayukta Act, 20137 i e R g8 & ¢
(1) Former Prime Minister is in its Jurisdiction. (1) O G 5 SieR ¥ %l
2 s . . oation. i
) gmxg& complete. the investigation. in (@) 7% 67N 3 o i ¥ s
o tns.-, 3 i 1.
(3) It will consist of Chairman & 8 members. @) g T A W 8 d {E 1 ﬁﬁl
| . (4) 5 of these will be Judicial members. @) T @ 5~ wae 8| i
' (5) Question not attempted (5) SraiiRa W £ n
' .
o 22- Page 23 of 32 - .-
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110. Which Report of the Second Administrative
Refortns Commission is named as ‘Ethics in
Governance’?

(1) Tenth Report (2) Seventh Report.
(3) Fourth Report (4) Second Report
(5) Question not attempted
111. Under the provisions of Lokpal and Lokayukta

Act; 2013, how many members. are required in

the .Selection Committee for appointment of
Lokpal? .
(1) One Chairman and Two members

(2) One Chairman and Four members l@-ﬁ

(3) One Chairman and Three members
(4) One Chairman and Five members
(5) Question not attempted

112. Among the following views regarding the nature
of Public Administration which view was
supported by Pfiffner, FM. Marx and
L.D. White?

(1) Moder view (2) POCCOC view

(4) Integral view

{5)-Question not-attempted

(3) Managetial view

-

10. i3y yorifie R SN & P9, Tiidg-
BT 9 9T F Afcear &7

(1) gwai wfoaes (@t wfteE
(3) <herr i @) T Raes
(5) Srg<IRe 3

i

‘Srepurel Td ehiprgaeT JITE, 2013 & HiEE=I
® i, dieuer oF g e = ke
# fpa Faw B9 Afed?

(1) U aegel T9 <7 G ,

. (2 T e U9 AR 9T

E (3) vo emey qd 9 WEH

" @) U ommE T Ui WEw

(5) srgaRe g3

M2 5% Yo & UPfa & Gad A reifea
gRedol § & freR, THYE A

&
::?ngﬁm qRewEr  (2) G gew
(3) yg=r gfeaT * (4) @ﬂw gfewror

(5) ST e

111.

113. Who wrote the book “Public Administrationina 113 “gfees TSRAFRLIN 39 | <igA if% cgel~g”
Time of Turbylence”? TS e ferddie
(1) D. Waldo (2) Christopher Hood (1) . dicer (2) FreeIwR ES
(3) Osborne & Gaebler (4) Frank Marini ) 3iged @ leerk (@) B mﬁ:ﬁ
. (8) Question not attempted (8) sraiRa wes :{:'
[ Sl J e
114. Which statement is false in the context of Mill's 114 fiet & Suaifarare & wed, | BT B
Ut1htanamsm‘7 T &7 , ]
(1 Happlness is the basic purpose of all human
i - (1) é’fﬂﬁﬁlif?{ww&ﬁﬁ mﬂvﬁ
desires. ’ ;\3’@ ) o
2 Along with quantitative difference, there is l
quahtatlve difference in happiness. '2) g& ¥ aRawTes 49 & W oI
(3) There is only quantitative dlfference in ¥g ff B B N
happiness. 8) g@ ¥ Dt IRATTHS FT BT B 1
(4) The ausp1c1ousness of an action is (@) o e Y e ey FsiRe S
déteithined by the happinéss "resulting from 8| I
it. $r ' s ;
(5) Question not attempted ‘ (8) argaiRa o ‘ ,
22-% Page 24 of 32 A

- t—

Page 24


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

113. Socratic- Method is called Dialectical because -
(1) it is a method of Question and Answer.

argument.

(3) it is"a method of teaching.

(4) it is a method of self-knowledge.

(5) Question not attempted

116. This is the correct interprefation of Normative

Utilitarianism -

(1) In this maximum happiness of maximum
people is the ideal

(2) In this happiness of othérs is the only ideal
for human actions

(3) In this besides happiness, knowledge, truth,

* virtue are also self-achievable auspicious

(4) In this one’s own happiness'is the only ideal
for hiiman actions

(5) Question not attempted

17. Point out* the correct option from below
regarding -the .relation of means and end with

(2) it is- a method, of argument and. counter-

5. \ipfes 9gfy 3T ggIid Har wiarY w@iie-
ISR A g &1+
) 7 7% SR yRiTs B TEly §)
(3) 7% o R o gahy ¥ o
(4) 98 To -5 DI uEfa B

(5) sraRa uee
'116-'3113?%@?1&3@133%%@1@%—

) s/ H@WWWWWQ
SICE

(ﬂW@?‘fﬁﬁ@éﬁWEﬁmﬁmw
AT & 7t

@ o gu @ IRe s, o, agr A
. e g & . )

(@WW&HQ@‘&WE%WWW
ames & ‘

(5) SR U= -

N7.3N & e & s, maﬁ'\rs‘@'\'iﬁ
W Ie-uRE @ WY Py e dre

respect to non-violence, Truth and God in the Frefalea 5 9 98 ﬁmq IR —
Ethics of Gandhi - g I | ETR
o ‘WNor?-Vizlence | Truth Go(cil. 1) TR A et
means means | end ; i . \ ,
@) méans end end (@) irer T il
<)) end | means/] end (@) wr= KR ey
“@ ~ end end | means @) wrg g | e e
(12 o (2 4 At (1) 2 : () 4 *
3) 3 @1 §g W (33 @1. . %@
(5) Question not attempted : (5) 3rg<ilRe e
118. In which philosophy, it is preached to renounce 18- Hiey Wty & fory W wivR® Gt &7 @
all worldly pleasures and lead a life of austerity D HOR TIET G a?TﬂT{Uf SICE ki JURY
and detachment in order to attain salvation? e gef & foar mar 82
(1) Gandhian Philosophy (1) e <=9 «
(2) Buddhist Phllosophy (@) drg T+ ‘ s
(3) Jain Phllosophy -(3) §i9 e >
(4) Charvaka Philosophy 4) Tt esig A .
(5) Question,not attempted (5) eraIRd weq
119- Of what quality or vow “Mithyopadesha” is 2 119- 9 329 & s “freziader” f5e o7 a7 3
transgression (atichara) according to Jainism? BT 2
: Seaie
(1) Ahimsa (2). Satya (Truth) i
(Non-Violence) : (1) s (2) W N
&) g\;:hauryzhn (4) Samyak-darshana 3) 3Rt 8) guress
{(Non-stealing) : 7
; (5) Question not attempted (5) SrgaiRa w2
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120.

121.

122.

’Select the correct option -

‘Neti-Neti’ is. used in the context of ‘Nirguna
Brahman’, which indicates that -

(A) this is a negation of the qualities related to
Brahinan

this is the realization of the
indescribability of Brahman

this is'a. Saguna explanation of the nature
of Brahman

its culmination is silence

B)
©

(1) A, B and D are correct

"(2) A, B and C are correct

(3) B and C are correct

(4) A and B are correct

(5) Question'not attempted
The peaceful attitude induced by th
contemplation, of artis the best illustration of -
m Vijnanamaya-Kosha(2) Anandamaya-Kosha
(3) Manomaya-Kosha (4) Pranamaya-Kosha
). Question not attempted

What is the meamng of “Samyak Vyayama”
according to Buddhlst ethics? 5
(1) Just hvehho_od

(2) Efforts for the creation of auspiciousness and
prevention of evil

120.

122.

TR &, S < B fF —

(A) U8 5o Rygs o & oy 8

(B) U8 §&I O AT BT ¥ T

(€) uE FE D WwY BT T AT B

(D) zua uRufy 419 # § N =
T8 APy &1 Ta9 H% =~

(D ABTD &

@ A,BqCHRE

(3).B 7 C wdl &

@MAIBEEE ;

(5) SrgaiRa- gt
w%%ﬁﬁﬁawﬁ@%wﬁw
£ TR § -

(1) s @ &1
(@) 7FHg B BT (4) UOFET DI Bl

(5) srgaRa e ek

?ﬂ?q?f %? > IR
(1) <Jrrqeb ShfdsIars= -
(2) I B SRT IR YT B FRIY B T

(ﬂamwaﬁmm
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Frfor g B b SRR @1 R Rear

{3) Concentration of mind (@) oy 1 THmI '
(4) Determination to follow the path of truth (4) T A/ W A BT ﬁg:ﬂﬂ”
(5) Question not aitempted () iR e’
123. Which notion is expressed in the Nasadiya-Siikta 128. 3748 & AR ¥ # ?ﬁfl%}?jdw a@’aﬁﬁ
of the Rig-Veda? ) B8 o7
(1) Atheism (2) Pantheism (1) srfreaRarg @ Hﬁ‘éﬂ?ﬂ'ﬁ
(3) Monism (4) Theism (3) tHEaig 4 W
(5) Question not attempted (5) argaiRa we A1 ’
124. What is the primary consequence of practicing 124 fy=pr1 &4 & 3P BT & YRUM 4T 87
Nishkama Karmia? | (1) Wi sRer (@) W
(1) Social prestige (2) Success .
&) quihl;imity (4) Self-improvement 3) v @ E‘i”ﬁ BRI
(5) Question not attempted (5) STRIRT TR e
125. Which is not a Vedanga? 125. 14T IS & 87 .
(1) Chhanda (2) Shiksha 1) B @ R
(3) Ganita (4) Kalpa (3) wifora (4) T
§§) Question not attempted ) ?ﬂj?rﬁﬁ PESH
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130.

126.

127,

128.

129.

Which of the following statements about the'

Vedas is False?

(1) Rigveda is the most ancient:

(2) The Vedas are full of knowledge of
supernatural subjects only.

(3) Yajurveda has discourses on rituals.

(4) Vedas are non-human.

(5). Question not attempted

Y

According to Kant, which one o‘.f;the following is
not included in the essential postulates of

morality?

(1) Immortality of the soul

(2) The ability to perform actions
(3) The existence of God

(4) Freedom of will

(5) Question.not attempted N
Descartes’ *Philosophical -Method for attaining
certain and undisputed knowlédge of Soul, God
and World is.* - . .

(1) Dialectical (2) Sceptical

(3) Intuitive (4) Transcendental

(8) Questionnot atterripted

‘Which Theory of Punishment does depend upon
the concept of S:elf—Determesm?

" (1) Only Retributive Theory

(2) Only Reformatlve Theory

(3) Both Retnbutlve Theory and Deterrent Theory
(4) Only Deterrent Theory

(5) Questlonr%ot attempted ;
-Accordmg 22) the Upanishads,
following four states of the soul -

there: are

(1) Bhootadf Avastha, Vaikrit Avastha, Swapna .

126.

127.

128.

129.

130.

¥t & I H B § B wo o §7
O 7o e e . )
(ﬂﬂa‘rﬁ%aaamiﬁv—cﬁﬁw‘rmaﬁwﬁl
(3) TgTe § e W |

® 95 sdieTid |

(8) srgaiRa ueT

BT B ITAR, %ﬁwﬁwmr
ﬁﬁwﬁﬁaﬁﬁwvﬁﬁﬁ?ﬁﬁ%?

(1) 3T BT SFRET !
(2) 5 B B gHar e

(&s’*eavmaﬁaa

4 ‘Hrhoq i ‘tqﬂ'vlfﬂ

'(S)alaﬂﬁﬁw N ot

ms‘sﬁ?sﬁvwmgﬁr&ﬂasﬁ?ﬁﬁam
wmmﬁméméaﬁm’rﬁzﬁﬁ@

S 7 1

(1) g1 -(Z)W w

() s v=ITeHD @) aawm?ﬁa Te T
(5) =ik ue R
|08 B BT g aﬂaq—ﬁaavmﬁ Edl
RO TR SR 87 e

(1) saa wiramreTs Rigra™s -

(2) Baer gurard] g .

@) yierRS Rigre R skruee-Rigra
(4) Bae yhRwee Rigr

(5) argilRa we=

IUMERT & UK, tha%ﬁwqu
§_

(1) s sraeen, “Ypa G, w;f R,

AvasthazSushupti Avastha gy SERl e

(2) Jagrat Avastha, Swapna Avastha, Sushupn (2) SIPG STER%IT, e aq@n;j'ﬁgﬁr Sfae,
Avastha, Turiya Avastha GREEICE] .

(3) Vaikrit Avastha, Swapna Avastha, Sushupti 3) Jpa srawn, W@ oravell | g s,
Avastha, Turiya Avastha TraTaen o ‘ i

(4) Jagrat Avastha; Vaikrit Avastha, Swapna (4) ST RO, I SRR, WG 3w,
Avastha, Turiya Avastha RNRICE: S M

(5) Question not attempted (5) argaRd wes s s
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131.In Social Science teaching, the correlation of
content with other subjects of curriculum is
called-

(1) Vertical Correlation:

(2) Horizontal Correlation

(3) Cross Correlation

(4) Parallel Correlation - %«
(5) Question not attempted %

132. Drawing and locating a country on a map is
associated with which one of the following
objective?

(1) Skill (2) Recognition
(3) Organization -  (4) Comprehensive
(5) Question not attempted

_ 133.The most essential and specific quality of a

Social Science teacher is -

(1) Many higher degrees _

(2) Attractive personality K
(3) Modern clothing/ dressing

(4) Updated knowledge in subject

(5) Question not attempted

134. Which one of the following is correct sequence

~ of Herbartian five step approach of lesson plan?

(a) Preparation ¢ '

(b) Présentation

(¢) Application

(d) Evaluation

(e) Generalization

() Association

Choose the correct code -

(1M a,b,fec (2 a,b,cdf

@ b,c,de, f (4) a,b,c,d,e

(5) Question not attempted

Whlch of the following is correct regardm@

essay type questions?

(@) Oppoitunity to thought expression

(b) ' Objectivity in evaluation

(¢©) Evaluation of writing skills

(d) Evaluation of critical thinking

Choose ,tl‘le correct code -

(M (a), (©) & (@ @ @, ® & ©

@ ®&E) @) () & (d)

(8) Question not attempted :

135.

131.

(8) arFiRa ye

132.
frfaRed 3§ & fra stea Q g ¥

133.

siraeas Sk faldre o1 & —

134,

. ﬂﬁaﬁmwaﬂm—

T8 T FT T BN —
1) (2), (c) T ()

@ o il ¥ R B PEAR & ~ -
(1) Trae AT ‘
(2) syl wE—aw

(3) i wE—HH

(4) TR HE—gw

(1) Pl
(3) e

(5) sriRa wE

(2) yar=T :
@) s -

(1) eF% Sog SuTSar
(2) v A
(3) AP JenyET
(4) favg @7 A FH T
(5) SrgaRa ue

e G & sdid § deudim SueH
frafafa § & ol w8 B9 8

(@) IR

(b)
()
(@
(e)
® e

EICE] B
Y e
W LS

S
L 2

(M a,b,fec
3)b,c,d, e,
(5) SR we
ﬁawuﬁ%mﬁﬁm%ﬁaaﬁﬁw
wE 87

(a) ﬁmaﬁwﬁaa%w

(b) FIET H gEFod

() <ET P BT G,

(dy Wﬁaﬁmw

(2)a,bcdf
(4)abc,de

Yy

(2) (a), (b) T ()
@3) (b) T () (4) (b) W@ (d)

(5) SrgaIRe w3
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136.

137.

138.

139.

known as -

Formal and Informal Group Plans are the forms
of which teaching method of Social Science?

(1) Brain Stormirng (2)-Socialized
C Recitation ~
(3) Problem Solving  (4) Project
(5) Question not attempted
In Social Science tedching, globes which are
used only with surface areawise outlines are

(1) Political globe. (2) Physical globe

(3) Celestial globe (4) Slate globe

(8) Question not attempted

Which ‘one .of the followmg is not a technical
characteristic of a good test?

(1) Discriininative (2) Subjéctivity

(3) Validity (4) Reliability

(5) Question not attempted. -,

Which of the following statement does ot
indicate the importance of correlation in Social
Science teaching? Co

i

(1). Realization of the segregation of knowledge.

(@ Reduces( the burden of curriculum.

140.

141,

{3) Facts’ become easier to understand.

|

136.

137.

138.

(4) Providés practlcal application of knowledge.”

() Question not attempted

In relation to type of questions, which of the

following pair is not correct? B

(1) Blank completion - Recall, ,

(2) Multiple choice - Recognition

(3) True/False - Recognition

(4) Matching - Recall

(5) Quesﬁfoi'}‘not attempted

Accordiné to* National -Curriculum Framework,

2005, whlch subjects comprise under.Social

Science af Se secondary stage?

(1) History, ~Geography,
Economics

(2) History, Geography, Civics, Econonucs
Human Sc1ence

©)) I-Ilstory, Geography, Socmlogy, Political
Science, Economics

(4) History, Geography,

Political Sciernce,

Political Science,

140.

141.

,(6) IR e

139.

GET IT ON
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swaRes Td oFivaRe g (af) aremr

e faem @ e RBror (AR & wg 82
(1) #R<Tss Sgem (@ galipa sl
(3) TF R AR @) Broige (o)
(5) iR g

gEifore A Reor 8 W v $aa 9dg
IR ST § G ST § AW o § Y

PEA & — ,

(1) o vy (2) Ao velig
3) TRy vollg @) e e
(5) 3rgaRe e

Frefofa & § @9 o o qﬁm B
T fadyar =iEf 87 )

(1) e - (2) yafasar

(3) Jerar (4) fozaa=iar

frafoRed & @ S woF wmfe s -

R ¥ weddy & Ag<g o S F8 Hwar?

(1) 9 & YROT BT 3R G 2|

(2) TrsTTEl & AR BT FH BRA B

(3) <rodl I GWSI S & Wi 8

(@wmwﬁaa—@mmm%l

(5) SrgRia e

el & yeR @ Wiy §, Fefiiee § ¥ S

T GET T8I 57

(1) Rew gt — TRy

(2 sgiwfous — yefi=r

@) ¥@ /99 — yAfdEE,

(@) e — yeERT

(8) srgaRa s

WS ureTeEl R, ,2005 & IFER,

AR W R AR, {EE $ sia

PR v ey 87 PPN

(1)sﬁmﬂfﬁa?m=ﬁi%fﬁa1=rm

(2 sfver, ier, RS Wk, spefere,
LISCACE G

(3) sfrsm, Tﬁa wasma mm'-?rl?r fagm,
SRR Wy

@) shrer, i, woEIR ﬁEﬂT-f REICEIL

Psychology, Economics Jefemet '
(5) Question not attempted (5) srgaRa ue ’
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142.

143

Project Method is based on which philosophical
ideology? .

(1) Realism (2) Naturalism

(3) Idealism (4) Pragmatisin

(5) Question not attempted

In which. step of Problem Solving Method
students are led to think over forall the poss1b1e

" tentative solutions of the problem?

144,

145.

146.

(1) Determination of objectives

(2) Analysis of information

(3) ‘Conclusion of the problem solving
(4) Formulation of hypothesis
(5) Question not attempted ~ **

Under visual mstructlonal support material,
which type of map is ot included in cultural
maps" ..

(1) Population (2) Economic

(3) Political (4) Geological

(5) Question not attempted <

Which of the following is not a component of
Social Science Unit Planning?

(1) Determination of instructional objectives

(2) Division of sub-unit$

(3) Decision about teaching materials

(4) Formulation-of introductory questions

(5) Question not attempted

According to Bloorn Taxonomy, which of thé

. following type of ‘questions are not suitable to

B

142.

143.

mﬁwﬁiﬁmwﬁiﬁﬁmwmwanéﬁa
0

(1) gemia|g
(3) areEiaTs

(2) yefare

@) wroraTe

(5) o S |
WW%%%W#W@

e & W AR SR A W)

144.

145.

(1) S} 1 Ao '
(2) it @1 e

«3) G GHEE BT spy

(4) yRepeat @1 AT
(5)31§’T‘rﬁﬂ§r?=f
LD WWW$WW
quﬁﬁawﬁmqﬁﬁsﬁﬁﬂﬁﬁv{a-
e °

(1) S @ s

(3) o @ i

(5) sreeRe S et
frfaRa § Q Prrar e B9 o5 g1

JE0

IS B TP TSH 8l 87

146.

@) Rreor Tl Wl ok 2
(4) e WA BT i

(1) a . E E. _25]’ ﬁ .f. ;:EIL_' ‘
@) Su—sEd o1 e ¢

S I

Vi

2D s

(5) srpaRa we
eagézﬂﬁarﬁrf%awﬁmmaﬁﬁm
W%W'ﬂaﬁmaﬁa%m—eﬁutﬁwaﬂ

evaluate the achievement of comprehension Wi & qedin &g S9ga TE &
objective under cognitive domain? ) i yE . PR
(1) Tlustration questions l : '
: 1 () g™ 9
(2) Recognition questions
: . (3) =rETHD U
(3) Explanatory questions
(4) Classification questions @ e
(5) Question not attempted (5) srgaie e
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147. According to Edgar Dale, which of the following  147- Te'R' S& & SR, 71 & @ @i e
is the highest level of indirect abstract ﬂ‘ff Q,Iﬁ-q—cﬁ BT ST W 27 _
experiences? ' . .

(1) Visual symbol (2) Verbal symbol ) g7 ¥iod @ s wiba
(3) Exhibition (4) Field trip , (®).rfr ) &7 yeor
(5) Question tiot attempted (8) argaiRa ye

148. “The unit is an organised body of information 148 ?ﬂ;l‘s,‘ I 3R WG BT U IS e

and experience designed to effect significant 2, ot Remeff & forg HeTaqel R PY u
[~ outcomes of the learners”. Who gave this P & oIy aifiefeua far Bl RERNEC I
' definition? , e & 82

(1) Good. (2) Morrison UK (2) HR

(3) Wesley (4) Herbert (3) I @) &g

(5) Question not attempted. . - (8) 3rIR W

149. Social Science is a subject which deals with — 149. yryifres faeme o Yo v & o wefa
® M, s e -

(b) Man and his relation with other men (@) _ .
(©) Man and his environment (b) T T S A F G I Wil
Choose the correct code - (€) G T SR AR
Mony®) . (2 Only (a)and (b) @ V! 1 A P .
3 (a), (b) C::l:i (c) (4) Only, Ea) and (¢) " 3w 6 . @ m @ Q‘ci' ®)
’ S @) @,®T () - @D (a) T (c)
(5) Question not attempted (6) saRa Te .
150. Which of the following is ot a principle of 150. fr=ifoaa & ¥ @ven wrifors A= &
i curriculup, of Social Science?, , _ ST BT Th Rigia 8 87
- (1) Totality of experience (1) srgai ) gl
(2) Similarity (2) AT
(3) Activity (3) wrfafafey
(4) Relationship with community (4) e X e
®) Quesg;g? not attempted (5) 3T e
Gt
55
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RAJASTHAN PUBLIC SERVICE COMMISSION, AIMER

Sr. Teacher (Sanskrit Edu.Deptt.) Comp. Exam - 2024
Subject : SOCIAL SCIENCE
Exam Date : 28-12-2024
Model Answer Key Issue Date : 16-01-2025
Answer key as per the Question Paper uploaded on Website

Q. No. RES Q. No. RES Q. No. RES
1 1 51 3 101 2
2 1 52 4 102 1
3 3 53 4 103 1
4 3 54 2 104 1
5 1 55 3 105 4
6 4 56 3 106 3
7 4 57 2 107 1
8 1 58 2 108 3
9 3 59 2 109 4
10 4 60 4 110 3
11 1 61 2 111 2
12 3 62 1 112 4
13 4 63 3 113 1
14 1 64 4 114 3
15 2 65 2 115 1
16 3 66 1 116 1
17 3 67 1 117 1
18 1 68 1 118 3
19 3 69 2 119 2
20 2 70 2 120 1
21 3 71 4 121 2
22 2 72 3 122 2
23 4 73 2 123 3
24 2 74 2 124 3
25 2 75 2 125 3
26 1 76 3 126 2
27 3 77 2 127 2
28 3 78 1 128 2
29 2 79 2 129 3
30 1 80 1 130 2
31 2 81 2 131 2
32 1 82 1 132 1
33 4 83 2 133 4
34 4 84 1 134 1
35 2 85 4 135 1
36 4 86 4 136 2
37 3 87 3 137 4
38 3 88 3 138 2
39 2 89 1 139 1
40 4 90 4 140 4
41 4 91 2 141 3
42 4 92 3 142 4
43 2 93 1 143 4
44 2 94 1 144 4
45 2 95 1 145 4
46 2 96 1 146 2
47 4 97 1 147 2
48 3 98 1 148 3
49 4 99 4 149 3
50 3 100 4 150 2

* Means deleted Page 33
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